
■□■ フーリエ級数展開のまとめ ■□■ c° 2007 Naoto KOUYAMA

フーリエ級数展開 複素フーリエ級数展開

フーリエ級数 フーリエ係数 複素フーリエ級数 複素フーリエ係数

周期 2π f(x) ～
a0
2
+

∞X
n=1

(an cosnx+ bn sinnx) ak =
1

π

Z π

−π
f(x) cos kx dx, f(x) ～

+∞X
n=−∞

cn e
inx ck =

1

2π

Z π

−π
f(x) e−ikxdx

bk =
1

π

Z π

−π
f(x) sin kx dx

偶関数 f(x) ～
a0
2
+
∞X
n=1

an cosnx ak =
2

π

Z π

0

f(x) cos kx dx ck =
1

2π

Z π

0

f(x)
³
eikx + e−ikx

´
dx

奇関数 f(x) ～
∞X
n=1

bn sinnx bk =
2

π

Z π

0

f(x) sin kx dx ck = − 1
2π

Z π

0

f(x)
³
eikx − e−ikx

´
dx

周期 2L f(x) ～
a0
2
+

∞X
n=1

³
an cos

nπ

L
x+ bn sin

nπ

L
x
´

ak =
1

L

Z L

−L
f(x) cos

kπ

L
xdx, f(x) ～

+∞X
n=−∞

cn e
inπ
L
x ck =

1

2L

Z L

−L
f(x) e−i

kπ
L
xdx

bk =
1

L

Z L

−L
f(x) sin

kπ

L
xdx

偶関数 f(x) ～
a0
2
+

∞X
n=1

an cos
nπ

L
x ak =

2

L

Z L

0
f(x) cos

kπ

L
xdx ck =

1

2L

Z L

0
f(x)

³
ei

kπ
L
x + e−i

kπ
L
x
´
dx

奇関数 f(x) ～

∞X
n=1

bn sin
nπ

L
x bk =

2

L

Z L

0
f(x) sin

kπ

L
xdx ck = − 1

2L

Z L

0
f(x)

³
ei

kπ
L
x − e−i kπL x

´
dx

 eiθ = cos θ + i sin θ,

e−iθ = cos θ − i sin θ
⇐⇒


cos θ =

eiθ + e−iθ

2
,

sin θ =
eiθ − e−iθ

2i


cn =

an − ibn
2

,

c−n = cn =
an + ibn

2


